

Page 1 of 1

Florida Department of Transportation



Vendor Ranking

01200220 Letting: February 20, 2020 11:00 AM Call Order: 006 E1T49-R0 Contract:

Counties: DIST/ST-WIDE, Fed Aid No: N/A District: District 1

MANATEE, SARASOTA **Project(s):** 43272817283 (*) 365 AVAILABLE DAYS Contract Time:

Contract Desc: Shoulder Blading and Shoulder Rework

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	Responsive	Winning bid	\$315,220.53	100.00%
2	MIDWESTERN CONSTRUCTION, INC	Responsive	Non-Winning Bid	\$318,911.20	101.17%
3	ENVIRONMENTAL LAND DEVELOPMENT	Responsive	Non-Winning Bid	\$335,381.60	106.40%
4	AMERICAN DESIGN ENGINEERING CONSTRUCTION INC.	Responsive	Non-Winning Bid	\$399,421.00	126.71%
5	RICK RICHARDS INC	Responsive	Non-Winning Bid	\$425,924.40	135.12%
6	MERRELL'S GRADE-ALL, INC.	Responsive	Non-Winning Bid	\$429,696.00	136.32%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





Tabulation of Bids

Page 1 of 5

Letting: 01200220 February 20, 2020 **Call Order:** 006 **Contract:** E1T49-R0

District: District 1 Counties: DIST/ST-WIDE, Fed Aid No: N/A

Contract Time: 365 AVAILABLE DAYS MANATEE, SARASOTA Project(s): 43272817283 (*)

Contract Descr: Shoulder Blading and Shoulder Rework

The work under this Contract consists of Shoulder Blading & Shoulder Rework.

Line No / Item ID Alter Item Description	nate Quantity Units	(1) ROGAR MAI CONSULTING	OF FLORIDA	(2) MIDWI			MENTAL LAND OPMENT
() indicates item is bid as Lump S		Unit Price LL	C Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	SODDING (SY)						
0005 0120 2 2 BORROW EXCAVATION, TRUCK MEASURE	150.000 CY	0.01000	1.50	20.00000	3,000.00	19.00000	2,850.00
0010 E570 5 FERTILIZER	3.000 TN	0.01000	0.03	400.00000	1,200.00	950.00000	2,850.00
0015 E570 9 1 WATER FOR GRASS & PLANTS	20.000 MG	0.01000	0.20	65.00000	1,300.00	45.00000	900.00
0020 E573 1 HYDRO-SEEDING - APPLICATION SLURRY INCLUDING WOOD FIRE SEED, FERTILIZER, TACKIFIER	BER,	0.91000	96,096.00	0.70000	73,920.00	0.81000	85,536.00
0025 E575 1 SODDING	3,000.000 SY	7.01000	21,030.00	3.00000	9,000.00	2.70000	8,100.00
0030 E577 70 SHOULDER REWORK	63,360.000 SY	0.91000	57,657.60	1.32000	83,635.20	1.39000	88,070.40
0035 E577 70 1 REWORKING SHOULDERS (SPEREPAIRS)	4,000.000 OT SY	0.91000	3,640.00	1.45000	5,800.00	1.99000	7,960.00



02/20/2020

Tabulation of Bids

Page 2 of 5

Letting	g : 0	1200220	February 20, 20	020 Ca	II Order: 006		Contract:	E1T49-R0	
Line No / Item ID Item Description		Alternat	e Quantity Units	(1) ROGAR MANAGEMENT & CONSULTING OF FLORIDA		(2) MIDWESTERN CONSTRUCTION, INC		(3) ENVIRONMENTAL LAND DEVELOPMENT	
() indicates item is bid as Lump Sum			Unit Price	.C Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
	SECTION:	0001	SODDING (SY)						
0040 REWOR	E577 70 2 RKING UTILIT	Y STRIPS	4,000.000 SY	1.41000	5,640.00	2.00000	8,000.00	1.99000	7,960.00
	E577 71 G PAVED SH D PAVEMENT	OULDER, UP ⁻	190,080.000 ГО 24" LF	0.69000	131,155.20	0.70000	133,056.00	0.69000	131,155.20
	0001 SO	DDING (SY) S	Section Totals:		\$315,220.53		\$318,911.20 [']		\$335,381.60
		Contract G	rand Totals:		\$315,220.53		\$318,911.20		335,381.60



Page 3 of 5

Florida Department of Transportation



Tabulation of Bids

Letting: 01200220	February 20, 20)20 Cal	l Order: 006		Contract:	E1T49-R0	
Line No / Item ID Alternat	te Quantity Units	(4) AMERICA ENGINE	ERING	(5) RICK RIC	HARDS INC		S GRADE-ALL, IC.
() indicates item is bid as Lump Sum		CONSTRUC Unit Price	TION INC. Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	SODDING (SY)						
0005 0120 2 2 BORROW EXCAVATION, TRUCK MEASURE	150.000 CY	40.00000	6,000.00	25.00000	3,750.00	23.00000	3,450.00
0010 E570 5 FERTILIZER	3.000 TN	1,599.00000	4,797.00	50.00000	150.00	650.00000	1,950.00
0015 E570 9 1 WATER FOR GRASS & PLANTS	20.000 MG	2.00000	40.00	23.00000	460.00	40.00000	800.00
0020 E573 1 HYDRO-SEEDING - APPLICATION SLURRY INCLUDING WOOD FIBER SEED, FERTILIZER, TACKIFIER & I	₹,	0.70000	73,920.00	1.00000	105,600.00	0.96000	101,376.00
0025 E575 1 SODDING	3,000.000 SY	2.68000	8,040.00	4.05000	12,150.00	3.00000	9,000.00
0030 E577 70 SHOULDER REWORK	63,360.000 SY	1.20000	76,032.00	3.00000	190,080.00	1.50000	95,040.00
0035 E577 70 1 REWORKING SHOULDERS (SPOT REPAIRS)	4,000.000 SY	1.20000	4,800.00	4.00000	16,000.00	2.00000	8,000.00
0040 E577 70 2 REWORKING UTILITY STRIPS	4,000.000 SY	1.80000	7,200.00	4.00000	16,000.00	5.00000	20,000.00



02/20/2020

Tabulation of Bids

Page 4 of 5

Letting: 0120	0220 Fe	bruary 20, 20	020 Ca l	Il Order: 006		Contract:	E1T49-R0	
Line No / Item ID Alternate Quantity Item Description Units		ENGINE	(4) AMERICAN DESIGN ENGINEERING		(5) RICK RICHARDS INC		(6) MERRELL'S GRADE-ALL, INC.	
() indicates item is bid as Lump Sum			CONSTRUC Unit Price	CTION INC. Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 00	01 SC	ODDING (SY)						
0045 E577 71 BLADING PAVED SHOUL		90,080.000 24" LF	1.15000	218,592.00	0.43000	81,734.40	1.00000	190,080.00
BEYOND PAVEMENT 0001 SODDING (SY) Section Totals:				\$399,421.00		\$425,924.40		\$429,696.00
C	ontract Gran	d Totals:		\$399,421.00		\$425,924.40		429,696.00



02/20/2020

Tabulation of Bids

Page 5 of 5

Letting: 01200220 February 20, 2020 **Call Order:** 006 **Contract:** E1T49-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.